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MNatne: K6\l Date: ‘ Class:
Parallel Lines and Special Angies
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~ 1| band pls a transversal. Fill in the blanks describing the angle relationships with regard
- £3. Then, next to each label thetn as congruent (C) or supplementary (s)

Z3and £ f ﬂ are a linear pair - .
e make a s’rmiﬂhﬂmﬁ r
Z3and £ are a linear pair
1 Y

v

: a ~ 3/4
Z3 and / are vertical angles
A K Seyssfomeachotnerat o 5/6 .
the came verteX. b 7/8

Z3and £ ! are correspondmg angles. .

'Nﬂalhc sllouy»g +he top 2
Z3and £ i& are alternate interioyr ng:es 1o the bottom, what matches with L7

Opposite Sicles of transversal and pumilel lives,

6 but WSide e paraliel lings,
Z3and £ are saine side mtenor angles o
M /’ o

inside the pavaliel (ines, vl
on the same side of -w,

Araveyersak. Y/ HU
3 || band pis a transversal. If m. 1 = 140° find the

fneasure of each ahgle giving one reason for each answer. 4_'21‘3 >5/6 S=Ho? -
E‘ZD 40+jup=1g0 O Y ¥

-]

wza= 10 pecause £ and L2 axe suppianm‘ﬂur\i (heytust add 1o 190°)
<3 =ioo_because L3 and £ ave verheal (GO'H\@\I'VQ cong caeit).
mze= 140 because L oind £ ae verficad (¢p They @ wmmen‘t ).
m45 =wbecause L] and €5 aue CDT\’?SPOMW\G\(SO treyie comruenﬂ
mse=4  because L] and L MR @m?,soor\dlm (SUJH\Q\I e commerbT ).
mz7= 0 pecause Lo ond £ are verhcal (so they're mnqrmﬂ
mea= O because S ard 22 are verticad (so theyre con@mevrl’).
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